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Ĥư पğ Đमांक................................... 
Ĥवेश परȣ¢ा 2014 (Ēुप जी) 

 

रोल नंबर .........     अिधकतम अंक-150 समय सीमा - 90 िमनट 
 

मह×वपूण[ िनदȶश 

1. इस Ĥư पǔुèतका मɅ कुल 150 Ĥư हɇ। सभी Ĥư अिनवाय[ हɇ। 
2. Ĥ×येक Ĥư के चार वैकǔãपक उƣर A, B, C और D Ǒदए गये हɇ ǔजनमɅ से एक सहȣ है। 
3. ओ.एम.आर. शीट उàमीदवार को अलग से दȣ जाएगी, ǔजसमɅ सहȣ उƣर को पूरा भरना है। 
4. Ĥư के एक से अिधक उƣर Ǒदये गये तो वह èवतः हȣ रƧ हो जाएगा।  
5. उƣर गलत होने पर अकं नहȣं काटे जाएंगे। 
6. रफ काय[ इस पǔुèतका मɅ हȣ करना होगा। 
7. यह Ĥưपğ परȣ¢ा ख×म होने के बाद ओ.एम.आर. शीट के साथ जमा करवाना है। 

अÛयथा उàमीदवार को परȣ¢ा से अनपुǔèथत समझा जाएगा। 
8. परȣ¢ा के दौरान अनशुासन बनाए रखɅ। 
9. अनवुाद व अÛय ǒवसंगित मɅ ǑहÛदȣ का Ĥư सहȣ माना जाएगा। 

 

Entrance Test 2014 (Group-G) 
 

Roll No.........    Maximum Marks-150    Time Limit - 90 Minutes 
 

Important Instructions: 
1. This question booklet contains total 150 questions. Answer all the questions. 
2. Each question has four options (a), (b), (c) and (d), out of which one is 

correct. 
3. The candidate is required to darken completely correct option in the OMR 

answer sheet supplied separately. 
4. Answer will get cancelled if it is not answered or two or more answers are given.  
5. There will be no negative marking. 
6. Rough work may be done in this question booklet itself. 
7. Submit the entrance test papers along with OMR answer sheet to the 

invigilator otherwise the candidate will be considered absent. 
8. Maintain discipline during the examination. 
9. In case of doubt or discrepancy in translation Hindi version will be treated as 

correct. 
 
Signature of the invigilator   Signature of the Candidate 
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1- nks jsyos LVs'ku v vkSj c ,d lh/k esa 110 fd-eh- nwj gSA ,d Vªsu v ls 7 
cts lqcg pyuk 'kq: djrs gq, 20 fd-eh- izfr ?k.Vs dh xfr ls c dh 
rjQ tkrh gSA nwljh jsyxkM+h tks c ls lqcg 8 cts pyrs gq, 25 fd-eh- 
izfr ?k.Vs dh xfr ls v dh rjQ vkrh gSA fdl le; nksuksa feysxh\ 
(A) izkr% 09 cts   (B) izkr% 10 cts   

 (C) izkr% 10-30 cts  (D) izkr% 11 cts 
 Two stations A and B are 110 km apart on a straight line. One train starts 

from A at 7 a.m. and travels towards B at 20 kmph. Another train starts 
from B at 8 a.m. and travels towards A at a speed of 25 kmph. At what 
time will they meet? 

 (A) 9 A.M    (B) 10 A.M.  
 (C) 10.30 A.M.   (D) 11 A.M. 
 
2- ,d nqdku esa Ø; ewY; ij ykHk 320 izfr'kr gksrk gSA ;fn Ø; ewY; 

25 izfr'kr c<+ tk;s vkSj foØ; ewY; ogh jgsA rks foØ; ewY; ij 
yxHkx fdrus izfr'kr ykHk gksxkA& 

 (A) 30 izfr'kr (B) 70 izfr'kr (C) 100 izfr'kr (D)250izfr'kr 
 In a certain store, the profit is 320% of the cost. If the cost increases by 

25% but the selling price remains constant, approximately what 
percentage of the selling price is the profit? 

 (A) 30% (B) 70% (C) 100% (D) 250% 
 
3- 17 xasnksa dks : 720 esa cspus ij gkfu gksrh gS tks 5 xsanksa ds Ø; ewY; 

ds cjkcj gS rks ,d xsan dk Ø; ewY; D;k gS & 
 (A) 45 : (B) 50 : (C) 55 : (D) 60 : 
 On selling 17 balls at Rs. 720, there is a loss equal to the cost price of 5 

balls. The cost price of a ball is:  
 (A) Rs. 45 (B) Rs. 50 (C) Rs. 55 (D) Rs. 60

  
4- ,d tehu dks : 18700 esa cspus ij mlds ekfyd dks 15 izfr'kr dk uqdlku 

gksrk gSA fdl dher ij ogh tehu cspus ij 15 izfr'kr dk ykHk gksxk & 
 (A) 21000 : (B) 22500 : (C) 25300 : (D) 25800 : 
  When a plot is sold for Rs. 18,700, the owner loses 15%. At what price 

must that plot be sold in order to gain 15%? 
 (A) Rs. 21,000 (B) Rs. 22,500 (C) Rs. 25,300 (D) Rs. 25,800
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5- ,d O;kikjh : 20 izfrfdyks ds 26 fdyks pkoy dks nwljh fdLe dss : 

36 izfrfdyks ds 30 fdyks pkoy esa feyk nsrk gS bu feys pkoyksa dks 
: 30 izfrfdyks ds Hkko ls csprk gS rks mldk ykHk izfr'kr gS & 

 (A) u ykHk u gkfu (B) 5 izfr'kr (C) 8 izfr'kr (D) 10 izfr'kr 
 A trader mixes 26 kg of rice at Rs. 20 per kg with 30 kg of rice of other 

variety at Rs. 36 per kg and sells the mixture at Rs. 30 per kg. His profit 
percent is 

 (A) No profit, no loss (B) 5% (C) 8%  (D)10% 
 
6- nks 'kadqvksa ds vk;ru dk vuqikr 2%3 gS rFkk buds vk/kkj dh f=T;kvksa 

dk vuqikr 1%2 gSA budh Å¡pkbZ dk vuqikr D;k gksxk\ 
 (A) 3%8                   (B) 8%3                               (C) 3%4   (D) 4%3 
 The ratio of volume of two cones is 2:3, and the ratio of radius of their 

base is 1:2, then the ratio of their height is  
 (A) 3%8                    (B) 8%3                              (C) 3%4   (D) 4%3 
 
7-    ,d 'kadq dh Å¡pkbZ nqxquh djus ij blds vk;ru esa fdrus çfr'kr dh 
 of̀) gksxh\ 
 (A) 100 izfr'kr (B) 200 izfr'kr (C) 300 izfr'kr (D) 400izfr'kr 
 If the height of the cone is doubled then how much percentage increase in 

its volume be observed  
 (A) 100% (B) 200 % (C) 300 % (D) 400 % 
 
8-  Js.kh 2]5]10]14]18]23]26]32]--- esa yqIr in D;k gS \ 
 (A) 33 (B) 34 (C) 36  (D) 37 
 The missing step in the series 2]5]10]14]18]23]26]32]---  
 (A) 33 (B) 34 (C) 36  (D) 37 
 
9-    ,d nqdkunkj ,d tksM+h p'esa dks 25 izfr'kr ykHk ij csprk gSA ;fn 

og bls 25 izfr'kr de esa [kjhnrk rFkk 10 :- de esa csprk rks mls 
40 izfr'kr ykHk gksrkA bl ,d tksM+h p'esa dk Ø; ewY; D;k gksxk \ 

 (A) 25 : (B) 50 : (C) 60 : (D) 75 : 
 A shopkeeper sales a pair of glasses in 25 percent profit. If he purchases 

it in 25 percent less & sales in Rupee 10 less then he gets a profit of 40 
percent. the purchase price of the pair of glasses is    

 (A) Rs 25 (B) Rs 50  (C) Rs 60  (D) Rs 75  
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10- ,d O;fä us nks ?kksM+ksa esa ls çR;sd dks 11336 :- esa cspkA buesa ls mls 
,d ij 10 izfr'kr ykHk rFkk nwljs ij 10 izfr'kr gkfu gqbZA iwjs lkSns 
esa mls D;k feyk \ 

 (A) u ykHk u gkfu  (B) 1 izfr'kr ykHk  
 (C) 1 çfr'kr gkfu  (D) 1-1 çfr'kr gkfu 
 A person sales two horses in Rs. 11336 each. In one he gets a profit of 10 

percent in another he has a loss of 10 percent then in total deal he gets  
 (A) No profit No Loss  (B) 1 percent profit  
 (C) 1 percent Loss  (D) 1.1 percent Loss 
 
11- ,d Vsyhfotu nqdku dk ekfyd vius xzkgdksa ls ykxr ewY; ls 16 

izfr'kr vf/kd ysrk gSA ;fn ,d xzkgd us ,d Vsyhfotu ds fy, 
16588 : fn, gksa] rks ml Vsyhfotu dk Ø; ewY; fdruk gksxkA 

 (A) 14300 : (B) 15500 : (C) 13800 : (D) 12000 : 
 A television shopkeeper takes 16 percent more then the purchased price 

from the customers if customer pays Rs. 16588 for a television then the 
purchase price of television will be 

 (A) Rs 14300 (B) Rs 15500 (C) Rs 13800 (D) Rs 12000 
 
12- eukst us nks jsfM;ks dqy 6400 :- esa [kjhnsA mlus ,d jsfM;ks dks 25 

izfr'kr ykHk ij rFkk nwljs dks 25 izfr'kr gkfu ij csp fn;kA ;fn 
nksuksa ds foØ; ewY; ,d leku gksa] rks çR;sd dk foØ; ewY; fdruk 
gksxk \ 

 (A) 3200 : (B) 3120 : (C) 3280 : (D) 3000 : 
 Manoj Purchase two radio in Rs. 6400. He sales one in 25 percent profit 

& another on 25 % loss. If the sales price of both is same, then the sale 
price of each is  

 (A) Rs 3200 (B) Rs 3120  (C) Rs 3280  (D) Rs 3000 
 
13 SCD, TEF, UGF, ..........., WKL & 
 (A) CMN (B) UJI (C) VIJ (D) IJT 
 SCD, TEF, UGH, ____, WKL 
 (A) CMN (B) UJI (C) VIJ (D) IJT 
 
14- DEF, DEF2, DE2F2, ..........., D2E2F3 & 
 (A) DEF3 (B) D3EF3 (C) D2E3F  (D) D2E2F2 
 DEF, DEF2, DE2F2, ..........., D2E2F3 & 
 (A) DEF3 (B) D3EF3 (C) D2E3F  (D) D2E2F2 
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15- 1 ls chl la[;k okys fVfdV feyk fn;s x;s gSaA muesa ls ,d fVfdV 
fcuk fdlh Øe ds fudkyk x;k gS bldh laHkkouk D;k gS fd tks 
fVfdV fudkyk x;k gS og vad 3 ;k 5 dk xq.kt gS\& 

 (A) 1@2 (B) 2@5 (C) 8@15 (D) 9@20 
 Tickets numbered 1 to 20 are mixed up and then a ticket is drawn at 

random. What is the probability that the ticket drawn has a number which 
is a multiple of 3 or 5? 

 (A) 1@2 (B) 2@5 (C) 8@15  (D) 9@20 
 
16- rk'k ds 52 iRrksa esa ls ,d iRrk fudkyk x;k gSA ,d jkuh fpM+h ;k 

,d yky iku ds jktk ds fudyus dh laHkkouk gS & 
 (A) 1@13 (B) 2@13 (C) 1@26  (D) 1@52 
 A card is drawn from a pack of 52 cards. The probability of getting a 

queen of club or a king of heart is: 
 (A) 1@13 (B) 2@13 (C) 1@26  (D) 1@52 
 
17- ,d lgh ?kM+h lqcg ds 8 ctkrh gS tc ?kM+h nksigj ds 2 ctk,xh rks 

?k.Vs okyh lqbZ fdrus fMxzh ?kwe tk;sxh & 
 (A) 1440 (B) 1500 (C) 1680  (D) 1800 
 An accurate clock shows 8 o'clock in the morning. Through how may 

degrees will the hour hand rotate when the clock shows 2 o'clock in the 
afternoon? 

 (A) 1440 (B) 1500 (C) 1680  (D) 1800 
 
18- ?kM+h dh lqb;kW ,d fnu esa fdruh ckj ,d nwljs ds Åij vkrh gSa & 
 (A) 20 (B) 21 (C) 22 (D) 24  
 How many times do the hands of a clock coincide in a day? 
 (A) 20 (B) 21 (C) 22 (D) 24  
 
19- ,d fo/kkulHkk ds pquko esa thrus okys mEehnokj dks 63 çfr'kr er 

çkIr gq, vkSj mlds çfr}anh mEehnokj dks 54]982 er izkIr gq,A ;fn 
pquko esa nks gh mEehnokj gksa rks dqy fdrus yksxksa us ernku fd;k\ 

 (A) 148600 (B) 127896 (C) 143298  (D) 143500 
 In an assembly election the winning candidate gets 63 percent votes and 

his competitor gets 54982 votes. If there are only two candidates in the 
election then how many persons have voted 

 (A) 148600 (B) 127896 (C) 143298 (D) 143500 
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20- 6 çfr'kr okf"kZd C;kt dh nj ls 1200 #i, ij nks o"kZ dk lk/kkj.k 
C;kt fdruk gksxk\ 

 (A) 153 (B) 144 (C) 186  (D) 200 
 what will be the 6 percent simple annual interest on Rs. 1200 for two 

years. 
 (A) 153 (B) 144 (C) 186  (D) 200 
 
21- bldks gy djus ij D;k izkIr gksxk 

 
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 (A) 5/999  (B) 1001/999 (C) 1001/3  (D) buesa ls dksbZ ugha 
  when simplified, the product 

 
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 

999
9972......

7
52

5
32

3
12  is equal to 

 (A) 5/999  (B) 1001/999 (C) 1001/3  (D) none of these 
 

22- jhuk lquhrk ls nksxquh mez dh gS] rhu lky igys og lquhrk ls rhu 
xquk mez dh FkhA vHkh jhuk dh mez D;k gksxhA 

 (A) 6 o"kZ (B) 7 o"kZ (C) 8 o"kZ (D) 12 o"kZ 
 Reena is twice as old as sunita. Three years ago, she was three times as 

old as sunita. How old is reena now? 
 (A) 6 years  (C) 7 years           (C) 8 years              (D) 12 years 
 
23. ,d jsy ,d fuf'pr nwjh 50 fefuV esa r; djrh gS] ;fn og vkSlru 

48 fd-eh- izfr ?k.Vs dh j¶rkj ls py jgh gSA ;fn 40 fefuV lQj ds 
le; es deh dh tkuk gS rks jsy dh j¶rkj gksxh  

 (A) 50 fd-eh-izfr ?k.Vk (B) 55 fd-eh-izfr ?k.Vk   
 (C) 60 fd-eh-izfr ?k.Vk    (D) 70 fd-eh-izfr ?k.Vk 
 A train covers a certain distance in 50 minutes, if it runs at a speed of 48 

kmph on an average. The speed at which the train must run to reduce the 
time of journey to 40 minutes, will be :  

 (A) 50 km/hr               (B) 55 km/hr                  
 (C) 60 km/hr                     (D) 70 km/hr 
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24. ;fn ,d jkf'k lk/kkj.k C;kt ls 6 o"kksaZ esa nqxuh gksrh gS rks og fdrus 
o"kksaZ esa 4 xquh gksxhA 

 (A) 12 o"kZ               (B) 14 o"kZ (C) 16 o"kZ               (D) 18 o"kZ 
 if a sum of money at simple interest doubles in 6 years, it will become 4 

times in : 
 (A) 12 years           (B) 14 years (C) 16 years  (D) 18 years 
 
25. ,d O;fDr usa 500 :- 05 izfr'kr okf"kZd lk/kkj.k C;kt ij m/kkj fy, 

mls 4 o"kZ mijkUr fdruh jkf'k vnk djuk gksxhA 
 (A) : 107-50    (B) : 550  (C) : 600 (D) : 700 
 A person borrowed Rs. 500 at the rate of 5% per annum Simple Interest 

what amount will he pay to clear the debt after 4 years? 
 (A) Rs. 107.50          (B) Rs. 550  (C) Rs. 600  (D) Rs. 700 

26- og dksu lh lcls cM+h la[;k gS tks 43] 91 vkSj 183 dks foHkkftr 
djus ij leku 'ks"k cps & 

 (A) 4 (B) 7 (C) 9  (D) 13 
 Find the greatest number that will divide 43, 91 and 183 so as to leave the 

same remainder in each case.  
 (A) 4 (B) 7 (C) 9  (D) 13 
 
27- U;wure oxZQy tks 21] 36 vkSj 66 ls foHkkftr gks og gS & 
 (A) 213444 (B) 214344 (C) 214434 (D) 231444 
 The least perfect square, which is divisible by each of 21, 36 and 66 is: 
 (A) 213444 (B) 214344 (C) 214434          (D) 231444 
 
28- ,d cSad v/kZokf"kZdh; vk/kkj ij 5 izfr'kr pØo`fRr C;kt dh x.kuk djrk 

gSA ,d xzkgd ,d o"kZ esa : 1600] 1 tuojh o 1 tqykbZ dks tek djrk 
gSA o"kZ ds var esa mls C;kt ds :i esa fdruh vkenuh izkIr gksxh & 

 (A) : 120 (B) : 121 (C) : 122 (D) : 123 
 A bank offers 5% compound interest calculated on half-yearly basis. A 

customer deposits Rs. 1600 each on 1st January and 1st July of a year. At 
the end of the year, the amount he would have gained by way of interest 
is: 

 (A) Rs. 120 (B) Rs. 121 (C) 122 (D) Rs. 123 
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29. ;fn ,d oxkZdkj dh izR;ssd Hkqtk dks 25 izfr'kr c<+k fn;k tk;s rks 
mlds {ks=Qy esa c<+ksrjh gksxh  

 (A) 25 %           (B) 50 %  (C) 40.5 %  (D) 56.25 % 
 If each side of a square is increased by 25%, its area is increased by : 
 (A) 25 %           (B) 50 %  (C) 40.5 %  (D) 56.25 % 
 
30- ;fn ,d [ksy 100 vdksa dk gS v] c dks 20 vad ns ldrk gS rFkk l 

dks 28 vadA rks c] l dks fdrus vad nsxkA 
 (A) 8 vad         (B) 10 vad        (C) 14 vad (D) 40 vad 
 In a game of 100 points, A can give B 20 points and C 28 points. then, B 

can give C : 
 (A) 8 points       (B) 10 points (C) 14 points (D) 40 points 
 
31. vkt eaxyokj gS rks 62 fnu ds ckn dkSu lk fnu vk;sxkA 
 (A) cq/kokj (B) lkseokj  (C) xq:okj                    (D) jfookj 
 Today is Tuesday. After 62 days it will be : 
 (A) Wednesday  (B) Monday            (C) Thursday               (D) Sunday 
 
32. Js.kh esa xyr vad dks fpfUgr dhft, 3, 8, 15, 24, 34, 48, 63 
 (A) 15            (B) 24                     (C) 34                    (D) 48                  
 Find the wrong number in the series: 3, 8, 15, 24, 34, 48, 63 
 (A) 15                       (B) 24                     (C) 34                    (D) 48                  
 
33- ;fn ,d ?ku dh izR;sd Hkqtk dks nksxquk dj fn;k tk;s tks mlds 

lrgh {ks=Qy esa fdrus izfr'kr dh of̀) gksxhA 
 (A) 25%                    (B) 50%    (C) 150%                     (D) 300% 
 The percentage increase in the surface area of a cube when each side is 

doubled: 
 (A) 25% (B) 50%  (C) 150%  (D) 300% 
 
34- ,d lkeku dks 5 izfr'kr ykHk ds lkFk cspus ij 15 : vf/kd izkIr 

gksrs gSa] mls 5 izfr'kr gkfu esa csps tkus dh rqyuk esaA rks lkeku dk 
Ø; ewY; gksxkA 

 (A) : 64 (B) : 80 (C) : 150                  (D) : 200 
 An article when sold at a gain of 5% yield RS 15 more than when sold at 

a loss of 5%. what is the Cost Price? 
 (A) RS 64                  (B) RS 80                   (C) RS 150                (D) RS 200 
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35- ;fn 5 izfr'kr izfro"kZ lk/kkj.k C;kt dh nj ls 2 o"kZ esa dqy jkf'k : 50 gksrh 
gS rks leku le;] leku nj o leku jkf'k ij pØof̀Rr C;kt fdruk gksxk & 

 (A) : 51-25 (B) 52 (C) : 54-24  (D) : 60 
 If the simple interest on a sum of money for 2 years at 5% per annum is 

Rs. 50, what is the compound interest on the same at the same rate and 
for the same time?  

 (A) Rs. 51.25 (B) Rs. 52   (C) Rs. 54.25  (D) Rs. 60 
 
36- ,d iRFkj dks <kyw lM+d ij yqM+dkuk vklku gksrk gS vis{kdr̀k lh/ks 

Åij mBkus ds D;ksafd & 
 (A) mBkus dh vis{kk yqM+dkus esa dk;Z vf/kd gksrk gS  
 (B) mBkus esa fd;k x;k dk;Z yqM+dkus ds cjkcj gksrk gS  
 (C) nksuksa esa fd;k x;k dk;Z leku gksrk gS ijarq dk;Z djus dh nj 

yqM+dkus esa de gksrh gS 
 (D) iRFkj dks yqM+dkus esa fd;k x;k dk;Z mBkus dh vis{kk de gksrk gS 
 It is easier to roll a stone up a sloping road than to lift it vertical upwards 

because 
 (A) Work done in rolling is more than in lifting  
 (B) Work done in lifting the stone is equal to rolling it  
 (C) Work done in both is same but the rate of doing work is less in rolling 
 (D) Work done in rolling a stone is less than in lifting it 
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37- lkekU; LFkku ¼lery½ dh vis{kk igkM+h ij Hkkstu idkus esa vf/kd 
le; yxrk gS D;ksafd & 

  (A) igkM+ksa ij ok;qe.Myh; nkc lery dh vis{kk de gksrk gS bl 
dkj.k ikuh 1000 ls de rkieku ij mcyrk gS ftlls [kkuk idkus dk 
le; c<+ tkrk gSA 

 (B) igkM+ksa ij de ok;qe.Myh; nkc ds dkj.k] ikuh 1000 ls vf/kd 
rkieku ij mcyrk gS bl dkj.k ikuh mcyus esa vf/kd le; ysrk gSA  

 (C) igkM+ksa ij ok;qe.Myh; ?kuRo de gksrk gSA bl dkj.k igkM+ksa ij 
ok;qe.My esa cgqr Å"ek dk ãkl gks tkrk gS 

 (D) igkM+ksa ij mel cgqr vf/kd gksrh gS bl dkj.k ok;qe.My }kjk 
cgqr lh Å"ek vo'kksf"kr gksrh gS rFkk [kkuk idkus ds fy, cgqr de 
Å"ek 'ks"k cprh gSA 

 It takes much longer to cook food in the hills than in the plains, because 
 (A) In the hills the atmospheric pressure is lower than that in the plains 

and therefore water boils at a temperature lower than 100oC causing an 
increase in cooking time  

 (B) Due to low atmospheric pressure on the hills, the water boils at a 
temperature higher than 100oC and therefore water takes longer to boil  

 (C) In the hills the atmospheric density is low and therefore a lot of heat is 
lost to the atmosphere  

 (D) In the hills the humidity is high and therefore a lot of heat is absorbed 
by the atmosphere leaving very little heat for cooking 

 
38- jsfM;ks VsfyLdksi vPNs gksrs gSa vis{kkd`r vkIVhdy VsyhLdksi ds D;ksafd& 
 (A)  ;s /kqa/kyh vkdk'kxaxk dks Hkh [kkst ysrs gSa tks vkIVhdy VsyhLdksi   
  ugha dj ikrsA  
 (B)  ;s ckny Nk;s gksus ij Hkh dk;Z djrs gSa  
 (C)  ;s fnu&jkr dk;Z djrs gSa  
 (D)  mijksDr lHkhA 
 Radio telescopes are better than optical telescopes because 
 (A)  They can detect faint galaxies which no optical telescope can  
 (B)  They can work even in cloudy conditions  
 (C)  They can work during the day and night  
 (D)  All of the above  
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39- ykbV behfVax Mk;ksM ¼,y-bZ-Mh-½ ltkoVh bySDVkWfud midj.kksa tSls 
f[kykSuksa esa mi;ksx gksrh gS og fudkyrh gS & 

 (A) ,Dl&js (B) iSjkcSaxuh izdk'k (C) ǹ'; izdk'k (D) jsfM;ks rjax 
 Light Emitting Diodes (LED) is used in fancy electronic devices such as 

toys emit 
 (A) X-rays (B) Ultraviolet light (C) Visible light (D) Radio waves 
 
40- fo|qr /kkjk dk S.I. ek=d gS &  
 (A) fdyksokV (B)  ,fEi;j  (C) vksEg  (D) oksYV  
 S.I. Unit of electric current is -  
 (A) Kilowatt  (B) Ampere  (C) Ohm  (D) Volt 
 
41. 4µF /kkfjrk ds fdrus la/kkfj=ksa ds la;kstu ls ifj.kkeh /kkfjrk 6µF izkIr 

gksxh  
 (A) ,d (B) nks (C) rhu (D) pkj 
 How many capacitors of 4µF capacity each are combined to get total 

capacity of 6µF - 
 (A) 1 (B) 2 (C) 3                          (D) 4 
 
42- Vh-oh- flXuy dh ijkl gS %  
 (A) 100-200 MHz   (B) 30-300 MHz 
 (C) 0-100 MHz (D) 50-100 MHz 
 The range of TV signal is -  
 (A) 100-200 MHz  (B) 30-300 MHz   
 (C) 0-100 MHz  (D) 50-100 MHz  
 
43- izdkf’kd rUrq dk fl)kar gS %&  
 (A) izdh.kZu   (B) ijkorZu  
 (C) iw.kZ vkUrfjd ijkorZu  (D)  viorZu 
 The Principal of Optical fibre is :-  
 (A) Scattering  (B) Reflection   
 (C) Total Internal reflection (D) Refraction 
 
44.  E rhozrk okys fo|qr {ks= esa vkos’k ij yxus okys cy dk eku gksxk &  
 (A)  E / q  (B)  q / E (C)  qE  (D)  E - q 
 The force acting on charge q due to an electric field E is given by :  
 (A)  E / q  (B)  q / E (C)  qE  (D)  E - q 
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45- fdl LFkku ij ueu dks.k dk eku 'kwU; gksrk gS &  
  (A) pqacdh; fuj{k  (B) mRrjh /kzqo   
 (C) nf{k.kh /kzqo    (D) Hkwe/; js[kk  
 In which place the angle of dip is zero –  
 (A) Magnetic equator  (B) North pole  
 (C) South pole  (D) Geographic equator  
 
46- izdk’k ds /kkjnkj fdukjksa ls eqM+us dh ?kVuk dks dgrs gSa &  
 (A) O;frdj.k   (B) /kzqo.k   
 (C) foorZu   (D) o.kZ fo{ksi.k  
 Phenomenon of bending of light from sharp edge is called –  
 (A) Interference   (B) Polarization   
 (C) Diffraction   (D) Dispersion  
 
47- Iykad fLFkjkad dh foek,a fuEufyf[kr HkkSfrd jkf'k dh foekvksa ds leku 

gksrh gSa %&  
 (A) vkof̀Rr   (B) dks.kh; laosx  
 (C) xfrt ÅtkZ  (D) cy 
 The dimentions of planck's constant are same as that of :-  
 (A) Frequency  (B) Angular Momentum 
 (C) Kinetic Energy (D) Force 
 
48- FkjeksesfVªd ¶Y;wM ds :i esa ikuh dh vis{kk lkekU;r% ikjs dk mi;ksx 

gksrk gS D;ksafd & 
 (A) ikjs dh fof'k"V Å"ek ikuh dh vis{kk de gksrh gSA  
 (B) ikjs dh fof'k"V Å"ek ikuh dh vis{kk vf/kd gksrh gSA  
 (C) ikuh dh nf̀'krk ikuh dh vis{kk vf/kd gksrh gS  

(D) ikjs dk ?kuRo ikuh dh vis{kk vf/kd gksrk gSA 
 Mercury is commonly used as a thermometric fluid rather than water 

because 
 (A) Specific heat of mercury is less than water  
 (B) Specific heat of mercury is more than water  
 (C) Mercury has greater visibility than water   

(D) Density of mercury is more than the water 
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49- izdk’k rjaxsa gSa  
 (A) vuqnS/;Z     (B)  vuqizLFk 
 (C) vuqnS/;Z vkSj vuqizLFk nksuksa   (D)  ;kaf=d  
 Light waves are:-  
 (A)  Longitudinal     (B) Transverse  
 (C) Both Longitudinal and transverse  (D) Mechanical 
 
50- lw;Zxzg.k gksrk gS tc & 

(A) panzek rFkk i`Foh ds chp lw;Z vkrk gS  
(B) panzek rFkk lw;Z ds chp i`Foh vkrh gS  
(C) lw;Z rFkk i`Foh ds chp panzek vkrk gS  
(D) mijksDr esa ls dksbZ ugha 

 Solar eclipse will take place when 
(A) The sun is between the moon and the earth  
(B) The earth is between the moon and the sun 
(C) The moon is between the sun and the earth  
(D) None of the above 

  
51- ,d uSuksehVj cjkcj gksrk gS & 
 (A) 10-6M (B) 10-8M (C) 10-9M (D) 10-5M 
 One nanometer is equal to 
 (A) 10-6M (B) 10-8M (C) 10-9M (D) 10-5M 
 
52. P izdkj ds v/kZpkyd esa cgqla[;d vkos’k okgd gksrs gSa  
 (A) bysDVªku    (B) gksy  
  (C) U;wVªku    (D) izksVku  
 Majority charge carrier in P – type semi conductors are -  
 (A) Electron    (B) Hole  
 (C) Neutron    (D) Proton 
 
53- /kkrq dk ijkoS|qrkad gS &  
 (A) 8.85 x 10-12 dwykWe 2@U;wVu &1 ehVj &2  (B) 1   
 (C) vuUr      (D) 'kwU; 
  The dielectric constant of metal is:  
 (A) 8.85 x 10-12 C2 / N-1 m -2    (B) 1  
 (C) Infinite       (D) Zero  
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54- ,d dkcZu izfrjks/kd ij Øe’k% ukjaxh] gjh] yky rFkk lqugjh /kkjh gS] 
bldk izfrjks/k gS &  

 (A) 35 x 102  ± 5% ohm  (B) 53 x 102 ± 5% ohm 
 (C) 35 x 103 ± 5% ohm  (D) 53 x 103 ± 10% ohm 
 A carbon resistance has respectively the orange, green, red and 

golden strips, its resistance is –  
 (A) 35 x 102  ± 5% ohm   (B) 53 x 102 ± 5% ohm  
 (C) 35 x 103  ± 5% ohm   (D) 53 x 103 ± 10% ohm 
 
55- ikuh dk ijkoS|qrkad gS &  
 (A) 300   (B) 5   (C) 80   (D) 1  
 The dielectric constant of water is :  
 (A) 300  (B) 5   (C) 80  (D) 1  
 
56- Vsyhohtu usVodZ esa iz;qDr gksrh gSa &  
 (A) lw{e rjaxsa   (B)  mPp vkof̀Rr dh jsfM;ks rjaxsa 
 (C) izdk’k rjaxsa   (D)  /ofu rjaxsa 
  A television network uses –  
 (A) Microwaves    (B)  High Frequency Radiowaves  
 (C) Light waves    (D) Sound waves  
 
57- /kkrq ds vkosf’kr xksys ds i"̀B ls dsUnz dh vksj tkus ij fo|qr {ks= dh 

rhozrk &  
 (A) c<+rh gS  (B)  ?kVrh gS 
 (C) ì"B ds leku jgrh gS  (D)  izR;sd fcUnq ij 'kwU; jgrh gSA 
 Electric field intensity on moving from the surface charge metallic 

sphere towards centre -  
 (A) Increases  (B) Decreases  
 (C) Remain same to the surface(D) Remain zero to each point  
 
58- fdlh rkj dh izfrjks/kdrk fuHkZj djrh gS  
 (A) mldh yEckbZ ij   (B) mlds vuqizLFk dkV ds {ks=Qy ij  
 (C) mldh vkdf̀r ij   (D)  mlds inkFkZ ij  
 Resistivity of wire depends on -  
 (A) Its length    (B) Its area of cross section  
 (C) Its shape    (D) Its material  
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59- fuEu esa ls dkSu lh rjax izdk’k dh xfr ls pyrh gS  
 (A)  /ouh rjaxsa     (B)  m"ek rjaxs  
 (C)  iz?kkrh rjaxs    (D)  β fdj.ksa  
 Which wave travels with the speed of light?  
 (A) Sound wave    (B) Heat wave  
 (C) Shock wave    (D)  β rays 
 
60- HkwpqEcdh; /kzqoksa ij ueu dks.k dk eku gksrk gS &  
 (A) 00  (B) 450  (C) 900   (D) 1800 
 The angle of dip at geomagnetic poles is -  
 (a) 00  (B) 450  (C) 900    (D) 1800 
 
61- yslj fdj.k iqat esa gksrk gS &  
 (A)  izksVkWu     (B) bysDVªkWu 
 (C)  vizfrjks/; lqlaxr QksVku   (D)  α fdj.ksa  
 Laser beam contains  
 (A) Proton     (B) Electron  
 (C) Photon Compelling coherent  (D) α rays 
 
62- lefoHko i`"B ,oa fo|qr cy js[kkvksa ds chp dk dks.k gksrk g S %&  
 (A)  900     (B)  00 
 (C)  450     (D)  1800 
 The angle between equvipotential surface and electric lines of 

force is -  
 (A) 900     (B) 00 
 (C) 450     (D) 1800 
 
63- ,ukWykx flXuy dks fMftVy esa ,oa fMftVy flXuy dks ,ukykWx esa 

ifjorZu djus gsrq vko’;d midj.k gS %&  
 (A) QSDl    (C) ekWMse 
 (C) lalwpd    (D) Mk;ksM 
 The device required to convert analoge signal into digitial and 

digital signal into analog is  
 (A) Fax      (B) Modem  
 (C) Detector     (D) Diode  
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64- fo|qr pqEcdh; LisDVªe esa lokZf/kd vkof̀Rr okyh rjax gS %&  
 (A) X fdj.ksa    (B) ijkcSxuh fdj.ksa 
 (C) xkek fdj.ksa    (D) jsfM;ks rjaxsa 
 The wave of highest frequency in electromagnetic spectrum is  
 (A) X-rays     (B) Ultraviolet rays  
 (C) Gama - rays    (D) Radio waves  
 
65- rki c<+kus ij izfrjks/k ?kVrk gS &  
 ¼v½ v/kZpkyd dk    ¼c½ /kkrq dk  
 ¼l½ fo|qr vi?kV~; dk    ¼c½ feJ /kkrq dk  
 On increasing temperature the resistance of the following decrease.  
 (A) Semi conductor    (B) Metal  
 (C) Electrolyte     (D) Alloy  
 
66- fdjpkQ dk f}rh; fu;e fdl HkkSfrd jkf’k ds laj{k.k ij vk/kkfjr gS&  
 (A) laosx     (B) vkos’k  
 (C) ÅtkZ     (D) nzO;eku  
 Kirchoff’s second law is based on the conservation of which 

physical quantity  
 (A) Momentum     (B) Charge  
 (C) Energy     (D) Mass 
 
67- izdk’kh; lalwpd ds fy, mi;ksx esa ykrs gS a %&  
 (A)  Mk;ksM ystj    (B)  LED 
 (C)  ysLkj     (D)  QksVks Mk;ksM  
 Which of the following is used as optical detector  
 (A) Diode Laser     (B) LED  
 (C) LASER     (D) Photo diode  
 
68- fuEufyf[kr eas ls v/kkrq gS &  
 (A) yksgk     (B)  LVhy  
  (C) M~;wjsfy;e     (D) xzsQkbV  
 Which of the following is non metal -  
 (A) Iron      (B) Steel  
 (C) Duralium     (D) Graphite 
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69-  izdk'k dk fdlh pednkj lrg ls Vdjkdj ykSVus dh ?kVuk dks dgrs gSaA  
 (A) ijkorZu     (B) viorZu  
 (C) viorZukad     (D) vko/kZu 
 The phenomenon of light of return from a bright surface is known as -  
 (A) Reflection     (B) Refraction 
 (C) Magnification   (D) Reflective index 
 
70- ,d /kuvkosf’kr d.k pqEcdh; {ks= dh fn’kk ds lkFk U;wu dks.k cukrs 

gq, pqEcdh; {ks= esa izos’k djrk gS rks mldk iFk gksxk &  
 (A) ljy js[kk    (B) ijoy;kdkj 
 (C) oÙ̀kkdkj    (D) dq.Myhuhor~  
 A positive particle enters in a magnetic field at an acute angle with 

direction of magnetic field, then its path will be -  
 (A) Straight line    (B) Parabolic  
 (C) Circular     (D) Helical  
 
71- ,d ijek.kq dk ukfHkd cuk gksrk gS & 
 (A) bysDVªkWu rFkk U;wVªkWu (B) bysDVªkWu rFkk izksVkWu  
 (C) izksVkWu rFkk U;wVkWu (D) mijksDr lHkh 
 The nucleus of an atom consists of 
 (A) Electrons and neutrons (B) Electrons and protons 
 (C) Protons and neutrons (D) All of the above 
 
72- CH3CHCI2 rFkk CH2CI.CH2CI esa dkSu lh leko;ork gksxh & 
 (A) Ja[kyk leko;ork (B) afØ;kRed lewg leko;ork  
 (C) LFkku leko;ork  (D) esVkesfjTke 
 The isomerism which exists between CH3CHCI2 and CH2CI. CH2CI is 
 (A) Chain isomerism  (B) Functional group isomerism  
 (C) Positional isomerism (D) Metamerism 
 
73- N3-, O2-, F- rFkk Na+ dh vk;fud f«kT;kvksa dk Øe D;k gksxk & 
 (A) N3->O2->F->Na+  (B) N3-> Na+>O2->F-  
 (C) Na+>O2->N3-> F-  (D) O2> F-> Na+ ->N3- 
 The ionic radii of N3-, O2-, F- and Na+ follows the order 
 (A) N3->O2->F->Na+ (B) N3-> Na+>O2->F-  
 (C) Na+>O2->N3-> F- (D) O2> F-> Na+ ->N3- 
 



Page 18 of 31 

 

74- gkbMªksfu;e vk;u gS & 
 (A) H+ (B) HO- (C) H2+ (D) H3O+ 
 The hydronium ion is 
 (A) H+ (B) HO- (C) H2+ (D) H3O+ 
 
75- fuEu esa ls lcls vf/kd fo|qr /kuh rRo gS & 
 (A) Na (B) Ca (C) K (D) Cs 
 The most electropositive elements among the following is 
 (A) Na (B) Ca (C) K (D) Cs 
 
76- dkcZfud vfHkfØ;k tks lehdj.k CH3-CH=O+H2NOH nsrh gS CH3-CH-

NH+H2O ls O;Dr gksrh gS] mnkgj.k gS  & 
 (A) ;ksxkRed vfHkfØ;k dk (B) la?kuu vfHkfØ;k dk  
 (C) vkDlhdj.k vfHkfØ;k dk (D) foyksiu vfHkfØ;k dk 
 The organic reaction represented by equation CH3 - CH = O + H2NOH 

gives CH3 - CH - NH + H2O is an example of 
 (A) An addition reaction (B) A condensation reaction   
 (C) An oxidation reaction (D) An elimination reaction 
 
77- ,Y;wehfu;e dk lcls egRoiw.kZ v;Ld gS & 
 (A) ckDlkbM (B) eSXusVkbV (C) gsesVkbV (D) eksuktkbV 
 The most important ore of aluminium is 
 (A) Bauxite (B) Magnetite (C) Haematite (D) Monazite 
 
78-  'kq) ty dh eksyjrk gS  
 (A) 55.6  (B) 50  (C) 100  (D) 18 
 The Molarity of Purewater is - 
 (A) 55.6  (B) 50  (C) 100  (D) 18 
 
79- lcls vf/kd _.kfo/kqrh rRo gSA  
 (A) F (B) Cl  (C) Br  (D) I 
 The most electronegative element is  
 (A) F (B) Cl  (C) Br  (D) I 
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80- dqy ljy fØLVy tkyd gksrs gSA 
 (A) 7 izdkj ds  (B) 14 izdkj ds   
 (C) 3 izdkj ds  (D) vla[; izdkj ds  
 Total Crystal Latices are of -  
 (A) 7 Types   (B) 14 Types   
 (C) 3 Types   (D) Inneumerous Types 
 
81- fuEufyf[kr esa dkSu lk vEy lokZf/kd nqcZy gksrk gSA  
 (A) HI  (B) HBr (C) HCl (D) HF  
 Which of the following acid is weakest acid.  
  (A) HI  (B) HBr (C) HCl (D) HF  
 
82- ikWyh lSdsjkbMksa esa eksukslSdsjkbM ,ddksa dks cka/kus okyk ca/k gS&  
 (A) XykbdkslkbM ca/k  (B) U;wfDyvkslkbM ca/k  
 (C) Xykbdkstu ca/k  (D) isIVkbM ca/k  
 The bond present in polysacharides, which bond monosacharides 

unit is-  
 (A) Glycocide bond  (B) Nucleocide bond 
 (C) Glycogen bond   (D) Peptide bond  
 
83- 'kq"d lsy eas dkSu lk fo|qr vi?kV; iz;ksx djrs gSa &  
 (A) veksfu;e DyksjkbM  (B) ftad DyksjkbM  
 (C) lY¶;wfjd vEy   (D) ukbfVªd vEy  
 Which of the following electrolyte is used in dry cell -  
 (A) Ammonium Chloride  (B) Zinc Chloride  
 (C) Sulphuric Acid   (D) Nitric Acid 
 
84- ftysfVu dk mi;ksx cgq/kk vkblØhe cukus esa gksrk gS D;ksafd ;g&  
 (A) dksybMh foy;u cuus ls jksdrk gSA  
 (B) [kq'kcw c<+krk gSA  
 (C) fØLVyu gksus ls jksdrk gS ,oa feJ.k dks LFkkf;Ro iznku djrk gSA  
 (D) Lokn c<+krk gSA  
 Gelatin are mostly used in making Ice-Cream because-  
 (A) It restrict the formation of colloidal solution  
 (B) Increases fragrance  
 (C) Restrict crystallization and stabilized solutions 
 (D) Increases taste  
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85- Dyksjhu dk fojatu fuEufyf[kr esa ls ,d dh mifLFkfr esa gksrk gS&  
 (A) 'kq"d ok;q    (B) ueh  
 (C) lw;Z dk izdk'k   (D) 'kq) vkDlhtu  
 Decolorization of chlorine happens in the presence of -  
 (A) Dry air     (B) Moisture  
 (C) Sun light     (D) Pure Oxygen  
 
86- Mkb lSdjkbM v.kq dk lw= gS &  
 (A) C10 H18O9    (B) C10 H20O10 
 (C) C18 H22O11     (D) C12 H22O11  
 Molecular formula of Di-sacheride molecule is -  
 (A) C10 H18O9    (B) C10 H20O10 
 (C) C18 H22O11     (D) C12 H22O11  
 
87- csathu gSDlk DyksjkbM dk dkSu lk leko;oh ,d izcy dhVuk'kd gSA  
 (A) α      (B) β 
 (C) χ      (D) δ 
 Which isomer of Benzene hexachloriden acts is a strong 

insecticide?  
  (A) α      (B) β 
 (C) χ      (D) δ 
 
88- fo|qr dk loksZRre lqpkyd gS  
 (A) ghjk   (B) xzsQkbV (C) flfydkWu  (D) vØ"Vyh; dkcZu  
 Best conductor of electricity is -  
 (A) Diamond (B) Graphite  (C) Silicon  (D) Amorphous Carbon  
 
89- CuSO4 . 5H2O dgykrk gS  
 (A) gjk dlhl (B) uhyk dlhl (C) lQsn dlhl (D) ftIle  
  CuSO4 . 5H2O also known as -  
  (A) Green Vitrol (B) Blue Vitrol (C) White Vitrol  (D) Gypsum 
 
90- foVkfeu B12 esa /kkrq mifLFkr gS %&  
 (A) Mg  (B) Fe  (C) Co  (D) Zn  
 Metal present in Vitamin B12 is  
 (A) Mg  (B) Fe  (C) Co  (D) Zn  
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91- gkQesu eLVMZ vkW;y vfHkfØ;k esa cuus okys inkFkZ dk uke D;k gS \  
 (A) ,fydy vkblks Fkk;ks lk;usV  (B) ,yfdy lk;ukbM 
 (C) ,fYdy vkblks lk;ukbM   (D) ,fFky ,ehu   
 Write the name of the substance formed in Hoffman mustared oil 

reaction.  
  (A) Alkyl isothio cyanate  (B) Alkyl cyanide  
  (C) Akyl iso cyanide   (D) Ethyl Amine  
 
92- lsdjhu gS &  
 (A) ifjj{kd    (B) feBkl iSnk djus okyk inkFkZ  
  (C) iz'kkUrd    (D) nnZ fuokjd  
 Saccharin is -  
 (A) Preservative   (B) Sweeting Substance  
 (C) Trangquiliger   (D) Analgesic  
 
93- ouLifr rsy ds gkbMªkstuhdj.k esa dkSu lk mRizsjd iz;qDr gksrk gSA  
 (A) Ni   (B) Fe   (C) Mo   (D) V  
 For hydrogenation of vegetable oil which catalyst is used  
 (A) Ni   (B) Fe   (C) Mo   (D) V  
 
94- nzo fojks/kh lkWy ds LFkkf;Ro dk dkj.k gksrk gSA  
 (A) czkmuh xfr    (B) fVaMy izHkko  
 (C) fo|qr vkos'k   (D) czkmuhxfr rFkk fo|+qr vkos'k  
 Reason for stability of lyophobic Solution is  
 (A) Browni Movement   (B) Tyndall effect  
 (C) Electric Charge  (D) Brownian movement & 

Electric Charge 
 
95- j{kh dksykbM dh rjg dk;Z djus okyk lkWy gSA  
 (A) As2S3    (B) Gelatin  
 (C) Au     (D) Fe(OH)3 
 Sol which can act like a protective colloid-  
 (A) As2S3    (B) Gelatin  
 (C) Au     (D) Fe(OH)3 
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96- flfydkWu gS %  
  (A) pkyd    (B) dqpkyd  
 (C) v)Zpkyd    (D) feJ /kkrq  
 Silicon is:  
 (A) Conductor    (B) Insulator  
 (C) Semi conductor   (D) Alloy  
 
97-  fuEufyf[kr esa ls dkSu v.kqla[;d xq.k/keZ gS %& 
  (A) eqDr ÅtkZ ifjorZu   (B) nkc ifjorZu  
 (C) ok"iu dh Å"ek   (D) ijklj.k nkc  
 Which among the following is a colligative property:  
 (A) Free energy change  (B) Change in pressure  
 (C) Heat of Vaporisation  (D) Osmotic Pressure  
 
98- lw;Z dh ØksM ¼ukfHk½ esa [kkstk x;k rRo gS %&  
 (A) Cl2   (B) He  (C) Ar   (D) F  
 Element discovered in sun crode is :  
 (A) Cl2   (B) He  (C) Ar   (D) F  
 
99- euq"; ds 'kjhj ds rki gksrk gS&  
 (A) 85°C (B) 37°C (C) 50°C (D)97°C 
 What is the temperature of Human Body- 
 (A) 85°C (B) 37°C (C) 50°C (D)97°C 
 
100- eksuktkbV L=ksr gS &  
 (A) Ne   (B) Ar  (C) kr   (D) He  
  Monazite is a source of -  
 (A) Ne   (B) Ar  (C) kr   (D) He  
 
101- foVkfeu B2 gS &  
  (A) jkbcksQsfyou   (B) dkscyehu  
 (C) Fkkbehu    (D) fijhfeMhu  
 Vitamin B2 is -  
  (A) Riboflavin    (B) Cobalmin  
  (C) Thimine   (D) Pyramidin 
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102- fuEu esa ls dkSu iz'kkard gS &  
  (A) lsdksukWy   (B) LVsªIVªksekbflu  
  (C) ekQhZu   (D) fQusflfVu  
 Which of the following is the tranquilizer-  
  (A) Seconol   (B) Streptomycin  
 (C) morphine   (D) Phenacitin 
 
103- ngh dk cuuk gS &  
 (A) rhoz vfHkfØ;k  (B) /kheh vfHkfØ;k  
 (C) mRØe.kh; vfHkfØ;k  (D) izrhi vfHkfØ;k 
 Formation of Curd is –  
  (A) Fast reaction  (C) Slow reaction  
  (C) Reversible reaction  (D) Backward reaction 
 
104- gkbMªkstu ls lokZf/kd fØ;k'khy /kkrq gS &  
  (A) iksVsf'k;e   (B) eSXuhf'k;e  
 (C) ,sY;qehfu;e   (D) tLrk 
 The most reactive metal than hydrogen is -  
 (A) Potassium   (B) Magnesium  
 (C) Aluminium   (D) Zinc 
 
105- ikuh dk ?kuRo vf/kdre gksrk gS\ 
 (A) 4°C ij (B) 4K ij (C) 4°F ij (D) &4°C ij 
 The maximum density of water is 
 (A) 4°C  (B) 4K   (C) 4°F  (D) &4°C 
 

106- lalkj dh lcls yach unh dkSu lh gS\ 
 (A) felhflih (B) uhy (C) vestku (D) xaxk 
 Which is the longest river in the world? 
 (A) Misisipy (B) Neel (C) Amazon (D) Ganga 
 
107- vdcj dk edcjk dgk¡ ij fLFkr gS\ 
 (A) vkxjk (B) fldanjk (C) Qrsgiqj lhdjh  (D) fnYyh 
 Where is Akbar's Tomb Situated?  
 (A) Agra (B) Sikandara (C) Fatehpur Sikari (D) Delhi 
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108- xzk.M Vªad lM+d dh ;kstuk fdlus cukbZ Fkh\ 
 (A) pUæxqIr (B) 'ksj'kkg lwjh (C) vdcj (D) y‚MZ dtZu 
 Who had planed the scheme of Grand Trunk Road 
 (A) Chandra Gupt (B) Shershah Suri (C) Akbar (D) Lard Karzen  
 
109- ßnyky LVªhVß dgk¡ fLFkr gS\ 
 (A) eqEcbZ (B) fnYyh (C) yanu (D) U;w;kdZ 
 Where is "Dalal Street" situated? 
 (A) Mumbai (B) Delhi (C) London (D) New York 
 
110- ukfld esa fdl unh ds fdukjs dqEHk esyk yxrk gS\ 
 (A) xaxk (B) lryt (C) egkunh (D) xksnkojh 
 On which riverside in Nashik Kumbh Mela is organized 
 (A) Ganga (B) Satlaj (C) Mahanadi (D) Godawari 
 
111- NÙkhlx<+ jkT; dh jkt/kkuh D;k gS\ 
 (A) jk¡ph (B) Hkksiky (C) jk;iqj (D) nsgjknwu 
 What is the Capital of Chhattisgarh State? 
 (A) Ranchi (B) Bhopal (C) Raipur (D) Dehradoon 
 
112- ßtokgj lkxjß ck¡/k fdl unh ij fLFkr gS\ 
 (A) —".kk (B) pEcy (C) csrok  (D) lryt 
  "Jawahar Sagar" Dam is located on Which River? 
 (A) Krishna (B) Chambal (C) Betwa (D) Satlaj 
 
113- jk"Vª/ot ds v'kksd pØ esa fdruh rhfy;k¡ gksrh gSa\ 
 (A) 20  (B) 24  (C) 28  (D) 32 
 How many wood sticks are in the Ashok Chakra of National Flag? 
 (A) 20  (B) 24  (C) 28  (D) 32 
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114- dEI;wVj esa fdlh 'kCn dh yEckbZ fdlls ukih tkrh gS\ 
 (A) ckbV (B) feyhehVj (C) ehVj (D) fcV~l 
 How the length of a word in the computer is measured? 
 (A) Byte  (B) Milimeter (C) Meter (D) Bits 
 

115- ßekyxqM+h Mstß ds ys[kd dkSu gSa\ 
 (A) yfyr 'kkL=h (B) vkj-ds- ukjk;.k  
 (C) 'kksHkk Ms   (D) oh-,l uk;i‚y 
 Who is the writer of "Malgudi Days"? 
 (A) Lalit Shastri  (B) RK Narayan   
 (C) Shobha De  (D) VS Naipaul 
 

116- Hkkjrh; fjtoZ cSad dh LFkkiuk dc gqbZ FkhA  
  ¼v½ 1947 ¼c½ 1950 ¼l½ 1935 ¼n½ 1949 
 When was the reserve bank of India established:  
  (A) 1947   (B) 1950 (C) 1935 (D) 1949 
 

117- lkaph ds Lrwi dk fuekZ.k fdlus djk;k\ 
  ¼v½ pUnzxqIr ¼c½ vtkr'k=q ¼l½ v'kksd ¼n½ fcfEclkj 
 Who constructed the stup's of Sanchi? 
  (A) Chandragupt  (B) Ajatshatru (C) Ashoka (D) Bimbisar. 
 

118- Mkf.M;k jkl fdl izns'k dk yksduR̀; gS % 
  ¼v½ mÙkjizns'k ¼c½ xqtjkr ¼l½ egkjk"Vª ¼n½ vle 
 Dandia Raas is a folk dance of which state : 
  (A) Uttar Pradesh (B) Gujarat (C) Maharastra (D) Assam 
 
119- Hkkjr ds jk"Vªh; xku ds xkus dk fu/kkZfjr le; gS % 
  ¼v½ 50 lsds.M ¼c½ 52 lsd.M ¼l½ 54 lsd.M ¼n½ 56 lsd.M 
 Scheduled time to sung national anthem of India is : 
   (A)  50 lsds.M (B)  52 lsd.M (C)  54 lsd.M (D)  56 lsd.M 
 

120- ifo= Lo.kZ eafnj ds fuekZ.kdrkZ gSa % 
  ¼v½ xq#ukud nso ¼c½ xq# xksfoUn flag 
 ¼l½ xq# jkenkl  ¼n½ xq# rsxcgknqj 
 Holy Golden Temple was constructed by:  
  (A) Guru Nanakdev  (B) Guru Govind Singh  
 (C) Guru Ramdas  (D) Guru Tegbahadur 
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121- jk"Vª/ot dh yackbZ vkSj pkSM+kbZ dk vuqikr D;k gS\ 
 (A) 2%1  (B) 3%2  (C) 4%3  (D) 5%4  
 What is the ratio of the length and width of National Flag? 
 (A) 2:1  (B) 3:2  (C) 4:3  (D) 5:4 
 
122- DVD dk iwjk uke D;k gS\ 
 (A) fMekaM ohfM;ks fMLd  (B) fMftVy oksysVkby fMLd 
 (C) fMftVy ok;scy fMLd (D) fMftVy olZVkby fMLd 
 What is the full name of DVD? 
 (A) Demand Video Disc  (B) Digital Volatile Disc 
 (C) Digitally Viable Disc (D) Digital Versatile Disc 
 
123- gekjk jk"Vªh; fpà dgk¡ ls fy;k x;k gS\ 
 (A) lk¡ph ds Lrwi ls  (B) flU/kq?kkVh esa feys vo'ks"k ls 
 (C) lkjukFk esa fLFkr v'kksd LrEHk ls (D) x;k fLFkr ckS)fogkj ls 
 Where has our national icon  
 (A) The stupa at Sanchi  (B) Remains found in the Indus Valley 
 (C) The Ashoka Pillar at Sarnath(D) Buddhvihar based on the Gaya 
 
124- ;fn jk"Vªifr viuk R;kxi= nsuk pkgsa rks os viuk R;kxi= fdUgsa nsaxs\ 
 (A) ç/kkueU=h   (B) Lihdj 
 (C) mijk"Vªifr   (D) Hkkjr ds çeq[k U;k;ewfrZ 
 If the President wants to give resignation, to whom he will give 
 (A) Prime Minister  (B) Speaker 
 (C) Vice President  (D) Chief Justice of India 
 
125- Hkkjr dk dkSu lk jkT; Þphuh dk dVksjkß ds uke ls tkuk tkrk gS\ 
 (A) mÙkjkapy (B) mÙkj çns'k (C) fgekpy çns'k (D) fcgkj 
 Which state of India is known as "Sugar Bowl" 
  (A)Uttaranchal (B) Uttar Pradesh(C) Himachal Pradesh (D) Bihar 
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126- Hkkjr dk lcls cM+k cUnjxkg dkSu lk gS\ 
 (A) eqEcbZ (B) dksydkrk (C) fo'kk[kkiêue (D) dksfPp 
 Which is the Biggest Harbor of India? 
 (A) Mumbai (B) Kolkata (C) Vishakhapattanam (D) Kocchi 
 
127- HkkSxksfyd –f"V ls Hkkjr dh çkphure ioZr Jà[kyk dkSu lh gS\ 
 (A) fgeky;   (B) foU/;kpy (C) vjkoyh   (D) lriqM+k 
 Geographically, which is the oldest mountain range of India? 
 (A) Himalaya (B) Vindhyachal      (C) Arawali  (D) Satpura 
 
128- flU/kq unh dk mnxe LFky dgk¡ gS\ 
 (A) My >hy  (B) ekuljksoj >hy 
 (C) 'ks"kukx >hy (D) oqyj >hy 
 Where is the origin of Sindhu River 
 (A) Dal Lake  (B) Mansarovar Lake 
 (C) Sheshnag Lake (D) Wooler Lake 
 
129- fuEufyf[kr esa ls dkSu Hkkjrh; jk"Vªh; dkaxzsl ds v/;{k dHkh ugha cus\ 
 (A) xksiky—".k xks[kys  (B) lqHkk"kpUæ cksl  
 (C) cky xaxk/kj fryd  (D) cn#íhu rS;c  
 Who among the following never became President of the Indian 
 National Congress?  
 (A) Gopal Krishna Gokhle (B) Subhas Chandra Bose 
 (C) Bal Gangadhar Tilak (D) Badruddin Taiyab 
 
130- xka/kh th ds ÞjktuSfrd xq#ß dkSu Fks\ 
 (A) fprjatu nkl  (B) cky xaxk/kj fryd 
 (C) jkukMs   (D) xksiky—".k xks[kys 
 Who was Gandhi's "Political Mentor"? 
 (A) Chitranjan Das  (B) Bal Gangadhar Tilak 
 (C) Ranade   (D) Gopalkrishna Gokhale 
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131- Hkkjrh; jk"Vªh; dkaxzsl ds çFke eqfLye v/;{k dkSu Fks\ 
 (A) cn#íhu rS;c  (B) ekSykuk vcqy dyke vktkn 
 (C) ,e-,- vUlkjh  (D) jQh vgen fdnobZ 
 Who was the first Muslim president of the Indian National 
 Congress? 
 (A) Badruddin Taiyab   (B) Maulana Abul Kalam Azad 
 (C) M.A. Ansari  (D) Rafi Ahmad Kidwai 
 
132- Hkkjr jRu iqjLdkj çkIr djus okys çFke O;fä dkSu gSa\ 
 (A) ia- tokgj yky usg# (B) eksgunkl djepan xka/kh 
 (C) pØorhZ jktxksikykpkjh (D) M‚DVj loZiYyh jk/kk—".ku 
 Who was the first to get the Bharat Ratna Award? 
 (A) Pt. Jawahar Lal Nehru (B) Mohandas Karamchand Gandhi 
 (C) Chakrawarti Rajgopalachari (D) Dr. Sarwapalli Radhakrishanan 
 
133- ;wjks eqæk fdlds }kjk tkjh fd;k x;k\ 
 (A) dsoy ;wjksi esa ç;ksx gsrq ;w-,l-,l- ds }kjk  
 (B) ;wjksih; eqæk la?k ds }kjk 
 (C) rr̀h; fo'o ds }kjk      
 (D) mijksä esa ls fdlh ds Hkh }kjk ugha 
 Yuro currency is issued by whom 
 (A) For use only in Europe From USS     
 (B) By the European Monetary Union 
 (C) By Third World      
 (D) None of Above All 
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134- jkT; lHkk ds lnL;ksa dk pquko fduds }kjk fd;k tkrk gS\ 
 (A) jkT;ksa dh fo/kku lHkk vkSj fo/kku ifj"knksa ds }kjk 
 (B) jkT;ksa ds fo/kku ifj"knksa ds }kjk 
 (C) jkT;ksa ds fo/kku lHkk }kjk 
 (D) xzke iapk;rksa uxj ikfydkvksa rFkk uxj fuxeksa ds lnL;ksa ds }kjk 
 Rajya Sabha member are elected by whom? 
 (A) By the State Legislative Assembly and Legislative Councils 
 (B) By the legislatures of the States 
 (C) By the Assembly of States 
 (D) By the Members of Gram Panchayats, Municipalities and    
       Municipal Corporations 
 
135- ßekuljksojß fdl ns'k esa fLFkr gS\ 
 (A) Hkkjr (B) frCcr  (C) phu (D) HkwVku 
 "Manasarovar" is located in which country? 
 (A) India (B) Tibet  (C) China (D) Bhutan 
 
136- 'kksHkuk ukjk;.k dkSu gSa\ 
 (A) i;kZoj.koknh  (B) f'k{kk'kkL=h   
 (C) uR̀;kaxuk  (D) f[kykM+h 
 Who is Shobhana Narayan? 
 (A) Environmentalist (B) Academician  
 (C) Dancer  (D) Player 
 
137- LorU= Hkkjr ds çFke xouZj tujy dkSu Fks\ 
 (A) jktsUæ çlkn (B) jktxksikykpkjh  
 (C) tokgjyky usg: (D) ekmaVcsVu 
 Who was the first Governor General of independent India? 
 (A) Rajendra Prasad (B) Rajgopalachari  
 (C) Jawaharlal Nehru (D) Mountbatten 
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138- lkSje.My ds fuEu xzgksa esa lcls vf/kd pednkj xzg dkSu lk gS\ 
 (A) o`gLifr (B) 'kqØ (C) eaxy (D) cq/k 
 The planets of the solar system which is the most luminous planet? 
 (A) Jupiter (B) Venus (C) Mars (D) Mercury 
 
139- Hkkjr esa jk"Vªh; vk; dk çkDdyu fdlds }kjk fd;k tkrk gS\ 
 (A) ;kstuk vk;ksx }kjk   
 (B) Hkkjrh; lkaf[;dh laLFkku }kjk 
 (C) dsUæh; lkaf[;dh laxBu }kjk 
 (D) jk"Vªh; çfrn'kZ losZ{k.k }kjk 
 Estimation of national income in India is done by whom? 
 (A) Planning Commission    
 (B) Indian Statistical Institute 
 (C) By the Central Statistical Organisation  
 (D) By the National Sample Survey 
 
140- 'kjhj esa bUlqfyu dh deh ds dkj.k dkSu lh O;kf/k gksrh gS\ 
 (A) dSalj (B) eysfj;k (C) e/kqesg (D) mPp jäpki 
 Which disease is caused due to Lack of insulin in the body? 
 (A) Cancer (B) Malaria (C) Diabetes (D)High blood pressure 
 
141. The Synonym of Trimming is 
 (A) Shaving  (B) Fitting  (C) Arranging  (D) Making  
 
142.  A Place where neither grass nor trees grow is called 
 (A) Fertile (B) Rough  (C) Barren  (D) Hard 
 
143.  The Animals of a particular region are called 
 (A) Flora  (B) Fluorescent (C) Flagrant (D) Fauna 
 
Choose the alternative which best express the meaning of the given 

Idiom/Phrase (144-145) 
 
144.  At the Eleventh hour 
 (A) In danger  (B) just in time  
 (C) straight forward (D) before time 
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145.  A gala day 
 (A) A day of festivity (B) A day of grief  
 (C) A rainy day  (D) a relevant story 
 
146- U;wu dk foykse D;k gS 
 (A)  de  (B) vf/kd  (C) uohu (D) izkphu 
 
147- mRd"̀V dk lgh foykse D;k gS 
 (A)  vid`"V (B) fud"̀V  (C) vkd"̀V (D) mRd"kZ 
 
lgh orZuh dk p;u dhft, ¼148&149½ 
 
148- (A)  mTty (B) mToy  (C) mTToy (D) mTtoy 
 
149- (A)  LokLFk (B) LoLF;  (C) LokLF; (D) 'okLFk 
 
150- **cxysa >kaduk^^ eqgkojs dk lgh vFkZ gS 
 (A)  gksf'k;kj gksuk (B) fu:Rrj gksuk   
 (C) xexhu gksuk  (D) dksbZ ugha 
 


